29

29

(ng/L)
(
1
[1-1] ( )= nd X %12 23
1 15
[1-1-1] ( )= nd 0.94 5.2
[1-1-2] ( )= nd 1.2 22
[1-1-3] ( )= nd 0.84 0.84
[1-1-4] ( )= nd 0.73 1.3
[1-1-5] ( )= nd 0.76 1.7
[1-1-6] ( )= nd 0.53 1.4
[1-1-7] ( )= nd 0.59 1.6
[1-1-8] ( - nd 0.39 1.6
[1-1-9] ( )= nd 0.60 0.95
[1-1-10] )= nd 0.82 1.1
[1-1-11] )= nd 0.94 1.3
[1-1-12] )= nd 1.0 1.2
[1-1-13] )= nd 0.81 0.81
[1-1-14] ( )= nd 0.93 1.1
[1-1-15] ( )= nd 1.2 1.2
[1-2] ( )= nd X %12 98
1 15
[1-2-1] ( )= nd 0.94 5.2
[1-2-2] ( )= nd 1.2 22
[1-2-3] ( )= nd 0.84 0.84
[1-2-4] ( )= nd 0.73 1.3
[1-2-5] ( - nd 0.76 1.7
[1-2-6] ( )= nd 0.53 1.4
[1-2-7] ( )= nd 0.59 1.6
[1-2-8] ( )= %0.42 0.39 1.6
[1-2-9] ( )= nd 0.60 0.95
[1-2-10] )= nd 0.82 1.1
[1-2-11] )= nd 0.94 1.3
[1-2-12] )= nd 1.0 1.2
[1-2-13] )= nd 0.81 0.81
[1-2-14] ( )= nd 0.93 1.1
[1-2-15] ( )= nd 1.2 1.2




( )
]
3] ( )= nd X %12 23
115
[1-3-1 - nd 0.94 5.2
[1-32] ( )= nd 1.2 22
[1-3-3] )= nd 0.84 0.84
[1-3-4] ( )= nd 0.73 13
[1-3-5] ( )= nd 0.76 1.7
[1-3-6] ( )= nd 0.53 1.4
[1-3-7] ( )= nd 0.59 1.6
[1-3-8] ( )= nd 0.39 1.6
[1-39] = nd 0.68 0.95
[1-3-10]  ( )= nd 0.82 1.1
[1-3-11] ( )= nd 0.94 13
[1-3-12] ( )= nd 1.0 12
[1-3-13] ( )= nd 0.81 0.81
[1-3-14] ( )= nd 0.93 1.1
[1-3-15] ( )= nd 1.2 1.2
)= 110 X %14 14
115

( )= 9.9 0.94 0.94
)= 5.4 1.2 1.2
( )= 4.6 0.84 0.84
( )= 52 0.73 0.73

( )= 6.6 0.76 1.7

( )= 6.7 1.6 1.6

( )= 8.0 0.59 1.6

( )= 7.8 1.4 1.6

( )= 55 0.60 0.95
( )= 5.8 0.82 1.1
( )= 6.2 0.94 13

( )= 6.4 1.0 1.2

( )= 6.9 0.81 0.81

( )= 5.8 0.93 1.1

( )= 19 1.2 1.2

[1-5]  ( )= nd X %12 23

115
[1-5-1 ( )= nd 0.94 52




29

(
1

[1-5-2] ( nd 1.2 2.2
[1-5-3] nd 0.84 0.84
[1-5-4] )= nd 0.73 1.3
[1-5-5] = nd 0.76 1.7
[1-5-6] )= nd 0.53 1.4
[1-5-7] = nd 0.59 1.6
[1-5-8] )= nd 0.39 1.6
[1-5-9] nd 0.60 0.95
[1-5-10] = nd 0.82 1.1

[1-5-11] = nd 0.94 1.3
[1-5-12] )= nd 1.0 1.2
[1-5-13] = nd 0.81 0.81
[1-5-14] )= nd 0.93 1.1

[1-5-15] = nd 1.2 1.2
[1-6]  ( nd XK 12 23

15

[1-6-1] nd 0.94 52
[1-62] ( nd 1.2 2.2
[1-6-3] nd 0.84 0.84
[1-6-4] )= nd 0.73 1.3
[1-6-5] = nd 0.76 1.7
[1-6-6] )= %0.64 0.53 1.4
[1-6-7] = %0.63 0.59 1.6
[1-6-8] = %1.1 0.39 1.6
[1-6-9] nd 0.60 0.95
[1-6-10] = nd 0.82 1.1

[1-6-11] = nd 0.94 1.3
[1-6-12] )= nd 1.0 1.2
[1-6-13] = nd 0.81 81

[1-6-14] )= nd 0.93 1.1




29

(
1
[1-6-15] ( )= nd 1.2 1.2
(-7 ( nd X %12 nd
15
[1-7-1] nd 0.94 5.2
[1-72] ( nd 12 22
[1-7-3] nd 0.84 0.84
[1-7-4] ( )= nd 0.73 1.3
[1-7-5] ( )= nd 0.76 1.7
[1-7-6] ( )= nd 0.53 1.4
[1-7-7] ( )= nd 0.59 1.6
[1-7-8] ( )= nd 0.39 1.6
[1-7-9] nd 0.60 0.95
[1-7-10] ( = nd 0.82 1.1
[1-7-11] ( )= nd 0.94 1.3
[1-7-12] ( )= nd 1.0 12
[1-7-13] ( )= nd 0.81 0.81
[1-7-14] ( )= nd 0.93 1.1
[1-7-15] ( )= nd 1.2 1.2
[3] nd 3.6 6.2
[4] (1Im) 0.14 0.023 0.023
[5]1,2.4- %7.8 3.4 33
[7] nd 0.11 0.11
( 1)nd
( 2) %
( 3) %X
(4 12 ( )>=
12 ( )
(5 15 nd




